

Improvement of the termination criterion for subdivision of the rational Bézier curves*

ZHANG Ren-jiang(章仁江)^{1,2,3†}, WANG Guo-jin(王国瑾)^{1,2}

(¹ Institute of Computer Images and Graphics, Zhejiang University, Hangzhou 310027, China)

(² State Key Lab of CAD and CG, Zhejiang University, Hangzhou 310027, China)

(³ China Institute of Metrology, Hangzhou 310034, China)

†E-mail: renjiang@mail.hz.zj.cn

Received Dec. 28, 2001; revision accepted June 29, 2002

Abstract: By using some elementary inequalities, authors in this paper makes further improvement for estimating the heights of Bézier curve and rational Bézier curve. And the termination criterion for subdivision of the rational Bézier curve is also improved. The conclusion of the extreme value problem is thus further confirmed.

Key Words: Rational Bézier curves, Subdivision, Termination criterion.

Document code: A

CLC number: TP391.72

INTRODUCTION

It is a fundamental problem in computer aided geometric design (CAGD) and manufacture to find the intersection (Lane et al., 1980; Wang, 1984; Sederberg et al., 1986) of the parametric curves. Since most of the curves in CAGD are denoted by polynomials or rational polynomials, to find their intersection is to find the set of roots of their equation system. So finding their intersection is a difficult non-linear problem in mathematics (Wang et al., 1991). One of the methods used to solve it is subdivision algorithm (Filip et al., 1986; Sheng et al., 1992; Anglada et al., 1999). The basic idea of subdivision algorithm is “subdivision” and “straightening”. The so-called “subdivision” is the process of splitting the curve into the true curve segment by central point subdivision algorithm and the so-called “straightening” is the process of each curve segment being approximated (Nairn et al, 1999) by the chord between successive points. Thus, it is a key for a termination criterion to determine the more or less of calculation. We ask, under what condition for a curve may the “subdivision” stop and then the “straightening” can begin? In other words, what is a termination criterion for subdivision of the rational Bézier curves is better? For the following rational Bézier curve of degree n ,

$$p_n(t) = \sum_{i=0}^n B_n^i(t)w_i P_i / \sum_{i=0}^n B_n^i(t)w_i, \quad (1)$$

($P_i \in R^3$, $w_i > 0$, $0 \leq t \leq 1$),

(where $B_n^i(t) = C_n^i t^i (1-t)^{n-i}$) when w_i is a constant, the curve Eq. (1) degenerates into the following Bézier curve:

$$p_n(t) = \sum_{i=0}^n B_n^i(t)P_i, \quad (p_i \in R^3, 0 \leq t \leq 1). \quad (2)$$

In 1980, Lane and Riesenfeld (Lane et al., 1980) proposed a convergence test for piecewise linear approximation of the curve Eq. (2),

$$d_i := d(P_i, l(P_0, P_n)) \leq \varepsilon, \quad (i = 1, 2, \dots, n-1). \quad (3)$$

Where $l(P_0, P_n)$ is the line segment from P_0 and P_n , and $d(P_i, l(P_0, P_n))$ are the Euclidean distances from P_i to the straight line $l(P_0, P_n)$, and ε is not greater than the tolerance desired. This criterion is simple and rough. Some improvements were made on it in Wang et al. (1991). Let $h_n(t)$ be the height of the rational Bézier curve corresponding to parameter t , that is $h_n(t) = d(p_n(t), l(P_0, P_n))$, ($0 \leq t \leq 1$) (4) Wang et al. (1991) gave the following two theorems.

* Project supported by the National Natural Science Foundation of China (No.60173034) and the Foundation of State Key Basic Research(973) Program (No.G1998030600), China

Theorem A For the Bézier curve Eq.(2) of degree 3, we have

$$h_3(t) \leq \frac{3}{4} \max_{i=1,2} d_i. \quad (5)$$

therefore the termination criterion Eq.(3) for subdivision of the curve Eq.(2) may be improved into the following expression: $\frac{3}{4} \max_{i=1,2} d_i \leq \varepsilon$, ($i = 1, 2$).

Theorem B For the following rational Bézier curve of degree n , we have

$$h_n(t) \leq \left\{ 1 - \left[1 + \frac{(\max_{i=0,n} w_i)(\max_{1 \leq i \leq n-1} w_i)}{w_0 w_n} (2^{n-1}) \right]^{-1} \right\} \max_{1 \leq i \leq n-1} d_i. \quad (6)$$

By the theorem B, we have

Corollary A For the Bézier curve of degree n , we have

$$h_n(t) \leq \left(\frac{2^n - 2}{2^n} \right) \max_{1 \leq i \leq n-1} d_i. \quad (7)$$

Therefore the termination criterion for subdivision of the Bézier curve of degree n may be improved into the following expression:

$$\left(\frac{2^n - 2}{2^n} \right) \max_{1 \leq i \leq n-1} d_i \leq \varepsilon, \quad (i = 1, 2, \dots, n-1). \quad (8)$$

Eq.(7) becomes Eq.(5) when $n = 3$. We point out the equality sign in Eq.(5) and Eq.(7) can be taken, so in some sense the constants in Eq.(5) and Eq.(7) cannot be improved.

Let l be a straight line and let ε ($\varepsilon > 0$) be the tolerance desired. The closed cylinder with radius ε and central axis l can be expressed as

$$N(\varepsilon, l) = \{P \mid d(P, l) \leq \varepsilon, P \in R^3\}, \quad (9)$$

and for the rational Bézier curve (1), the expression of the relations between the maximum normal distance d_n and the tolerance ε can be written as

$$\delta_n = \sup_{\substack{0 \leq t \leq 1 \\ P_i \in N(\varepsilon, l(P_0, P_n)) \\ (i=1, 2, \dots, n-1)}} d(P_n(t), l(P_0, P_n)). \quad (10)$$

Thus, Wang et al. (1991) obtained the following theorem on an extreme value problem:

Theorem C For the rational curve Eq.(1), if we write the maximum value points of the ex-

treme value problem Eq.(10) as $P_i^* \in N(\varepsilon, l(P_0, P_n))$ ($i = 1, 2, \dots, n-1$), $t^* \in [0, 1]$, then $P_0, P_1^*, \dots, P_{n-1}^*, P_n$ must be coplanar.

This paper makes further improvement for the results of Wang et al. (1991).

RESULT AND PROOF

Theorem 1 For the degree n rational Bézier curve (1), d_i ($i = 1, 2, \dots, n-1$) defined by (3), P_0, P_1, \dots, P_n must be coplanar and P_1, P_2, \dots, P_{n-1} must lie on the same side of the line P_0P_n when δ_n attains its maximum.

Proof By the geometric invariance of Bézier curves, without loss of generality, choosing the x -axis and the origin of coordinates to be the straight line P_0P_n and the point P_0 , respectively, and writing $P_i = (x_i, y_i, z_i)$, ($i = 0, 1, \dots, n$), then the rational Bézier curve can be expressed as

$$p_n(t) = \sum_{i=1}^n B_n^i(t) w_i / P_i \sum_{i=0}^n B_n^i(t) w_i.$$

The condition of the theorem and choice of coordinate system imply that

$$d_i = \sqrt{y_i^2 + z_i^2}, \quad P_0 = (0, 0, 0), \\ P_n = (x_n, 0, 0),$$

then the square of the height of the Bézier curve corresponding to parameter t is

$$h_n^2(t) = \left(\sum_{i=1}^{n-1} B_n^i(t) w_i y_i / \sum_{i=0}^n B_n^i(t) w_i \right)^2 + \left(\sum_{i=1}^{n-1} B_n^i(t) w_i z_i / \sum_{i=0}^n B_n^i(t) w_i \right)^2.$$

On the other hand, when P_0, P_1, \dots, P_n are coplanar and P_1, P_2, \dots, P_{n-1} lie on the same side of the line P_0P_n , choose P_0P_n and P_0 as x -axis and the origin of planar coordinates system respectively, write $P_i = (x_i, d_i)$, then the square of the height of the Bézier curve corresponding to parameter t is

$$\hat{h}_n^2(t) = \left(\sum_{i=1}^{n-1} B_n^i(t) w_i d_i / \sum_{i=0}^n B_n^i(t) w_i \right)^2$$

To finish the proof of the theorem, first we need to prove

$$h_n^2(t) \leq \hat{h}_n^2(t) \quad (11)$$

holds for every parameter $t \in [0, 1]$. Write

$$C_i = B_n^i(t)w_i / \sum_{i=0}^n B_n^i(t)w_i, \\ (i = 1, 2, \dots, n-1),$$

then we only need to prove the following inequality

$$\left(\sum_{i=1}^{n-1} C_i y_i \right)^2 + \left(\sum_{i=1}^{n-1} C_i z_i \right)^2 \leq \left(\sum_{i=1}^{n-1} C_i \sqrt{y_i^2 + z_i^2} \right)^2$$

or

$$\left(\sum_{i=1}^{n-1} C_i y_i \right) \left(\sum_{j=1}^{n-1} C_j y_j \right) + \left(\sum_{i=1}^{n-1} C_i z_i \right) \left(\sum_{j=1}^{n-1} C_j z_j \right) \leq \left(\sum_{i=1}^{n-1} C_i \sqrt{y_i^2 + z_i^2} \right) \left(\sum_{j=1}^{n-1} C_j \sqrt{y_j^2 + z_j^2} \right).$$

The above inequality can be obtained by the following obvious inequality

$$C_i C_j y_i y_j + C_i C_j z_i z_j \leq C_i C_j \sqrt{y_i^2 + z_i^2} \sqrt{y_j^2 + z_j^2} \quad (12)$$

summing up for i, j from 1 to $n-1$. Finally, we point out the equality sign in Eq. (12) is taken if and only if

$$z_i y_j = z_j y_i; \quad z_i z_j \geq 0; \quad y_i y_j \geq 0, \\ (i, j = 1, \dots, n-1).$$

Thus, the equality sign in Eq. (11) is taken if and only if

$$\frac{z_i}{y_i} = k; \quad z_i \geq 0 \text{ or } (\leq 0); \quad y_i \geq 0 \text{ or } (\leq 0). \quad (13)$$

Where k is constant and setting $\frac{0}{0} = k$. The expression Eq. (13) means P_1, P_2, \dots, P_{n-1} lie in the plane $z = ky$ and on the same side of the line $P_0 P_n$. This completes the proof.

By the above theorem, the conclusion of the theorem C can be strengthened. We have

Corollary 1 For the rational curve Eq. (1), if we write the maximum value points of the extreme value problem (10) as $P_i^* \in N(\epsilon, l(P_0, P_n))$ ($i = 1, 2, \dots, n-1$), $t^* \in [0, 1]$, then $P_0, P_1^*, \dots, P_{n-1}^*, P_n$ lie on the line which is parallel $P_0 P_n$, and the distance from the line to $P_0 P_n$ is ϵ .

Proof By theorem 1, P_0, P_1, \dots, P_n must be coplanar when δ_n attained its maximum. By the geometric invariance of Bézier curves, we can choose the plane determined by P_0, P_1, \dots, P_n

and $P_0 P_n$ as the xy plane and x axis, respectively. Let $P_i = (x_i, y_i)$ ($i = 0, 1, \dots, n$), let the rational Bézier curve be as expressed in Eq. (1), thus its height corresponding to parameter t is

$$h_n(t) = \sum_{i=1}^{n-1} B_n^i(t)w_i y_i / \sum_{i=0}^n B_n^i(t)w_i.$$

Noting that the condition $P_i^* \in N(\epsilon, l(P_0, P_n))$ ($i = 1, 2, \dots, n-1$) has become $|y_i| \leq \epsilon$ in substance, it is easy to see that when $y_i = \epsilon$, ($i = 1, 2, \dots, n-1$) or $y_i = -\epsilon$, ($i = 1, 2, \dots, n-1$), namely, $h_n(t)$ gets its maximum when P_1, P_2, \dots, P_{n-1} are on the line. Thus completes the proof.

Theorem 2 For Bézier curve of degree 3, we have

$$h_3(t) \leq \frac{1}{3} \frac{(\sqrt{\Delta} + d_1 + d_2)^2}{2\sqrt{\Delta} + d_1 + d_2} \quad (n = 3), \quad (14)$$

where $\Delta = d_1^2 + d_2^2 - d_1 d_2$. Eq. (14) holds accurately for the plane curve with two central control points lying on the same side of the line connecting two endpoints.

Proof By theorem 1, we only need to consider the plane curve with two central control points lying on the same side of the two endpoints. It is easy to see that for this case, we have

$$h_3(t) = 3t(1-t)^2 d_1 + 3t^2(1-t) d_2, \\ (d_1 \geq 0, d_2 \geq 0) \quad (0 \leq t \leq 1).$$

In order to find the maximum of $h_3(t)$ in $[0, 1]$, differentiation of $h_3(t)$ yields

$$h'_3(t) = 3[(3t^2 - 4t + 1)d_1 + (2t - 3t^2)d_2] \\ = 3[(3d_1 - 3d_2)t^2 - (4d_1 - 2d_2)t + d_1].$$

It is easy to calculate the extreme points of $h_3(t)$ as follows:

$$t_1 = \frac{2d_1 - d_2 - \sqrt{\Delta}}{3(d_1 - d_2)}, \quad t_2 = \frac{2d_1 - d_2 + \sqrt{\Delta}}{3(d_1 - d_2)}.$$

Without loss of generality, suppose $d_1 > d_2$, by elementary calculation, we may only find one extreme point of $h_3(t)$ in $[0, 1]$, that is

$$t_1 = \frac{2d_1 - d_2 - \sqrt{\Delta}}{3(d_1 - d_2)}.$$

Noticing that $h_3(0) = h_3(1) = 0$ and $h_3(t) \geq 0$, it is easy to see that t_1 is the maximum point of $h_3(t)$ in $[0, 1]$. We have

$$\begin{aligned} h_3(t) &\leq h_3(t_1) = \\ &3 \left(\frac{d_1 - 2d_2 + \sqrt{\Delta}}{3(d_1 - d_2)} \right)^2 \frac{2d_1 - d_2 - \sqrt{\Delta}}{3(d_1 - d_2)} d_1 + \\ &3 \frac{d_1 - 2d_2 + \sqrt{\Delta}}{3(d_1 - d_2)} \left(\frac{2d_1 - d_2 - \sqrt{\Delta}}{3(d_1 - d_2)} \right)^2 d_2 = \\ &\frac{1}{9(d_1 - d_2)^3} (d_1 - 2d_2 + \sqrt{\Delta})(2d_1 - d_2 - \\ &\sqrt{\Delta})(d_1 - d_2)(d_1 + d_2 + \sqrt{\Delta}) = \\ &\frac{d_1 + d_2 + \sqrt{\Delta}}{9(d_1 - d_2)^2} [d_1^2 + d_2^2 - 4d_1d_2 + (d_1 + d_2) \cdot \\ &\sqrt{\Delta}] = \frac{d_1 + d_2 + \sqrt{\Delta}}{9(d_1 - d_2)^2} [2\sqrt{\Delta} - (d_1 + d_2)] \cdot \\ &[\sqrt{\Delta} + d_1 + d_2] = \frac{(d_1 + d_2 + \sqrt{\Delta})^2}{9(d_1 - d_2)^2} \cdot \\ &\frac{4\Delta - (d_1 + d_2)^2}{d_1 + d_2 + 2\sqrt{\Delta}} = \frac{1}{3} \frac{(\sqrt{\Delta} + d_1 + d_2)^2}{2\sqrt{\Delta} + d_1 + d_2}. \end{aligned}$$

Because of symmetry, it is easy to see the above result still holds when $d_1 < d_2$. Note that Eq. (14) still holds when $d_1 = d_2$. This completes the proof.

Corollary 2 For plane Bézier curve of degree 3 with two central control points lying on the two sides of the line connecting two endpoints, we have

$$\begin{aligned} \max_{0 \leq t \leq 1} h_3(t) &= \\ &\frac{1}{3} \frac{(\sqrt{d_1^2 + d_2^2 + d_1d_2} + |d_1 - d_2|)^2}{2\sqrt{d_1^2 + d_2^2 + d_1d_2} + |d_1 - d_2|}. \end{aligned}$$

Proof The proof of Corollary 2 is similar to that of theorem 2, so we omit it.

According to Theorem 2, the termination criterion for subdivision of the degree 3 rational Bézier curve may be improved into the following expression:

$$\frac{1}{3} \frac{(\sqrt{\Delta} + d_1 + d_2)^2}{2\sqrt{\Delta} + d_1 + d_2} \leq \varepsilon.$$

Theorem 3 For the Bézier curves of degree 3 or 4, we have respectively

$$\begin{aligned} h_3(t) &\leq \frac{3}{4} \sqrt{\frac{d_1^2 + d_2^2}{2}} = \frac{\sqrt{6}}{8} \sqrt{3d_1^2 + 3d_2^2} \\ (n = 3), \end{aligned} \quad (15)$$

$$\begin{aligned} h_4(t) &\leq \frac{\sqrt{14}}{16} \sqrt{4d_1^2 + 6d_2^2 + 4d_3^2} \quad (n = 4). \\ (16) \end{aligned}$$

Proof The proofs of Eq. (15) and Eq. (16) are similar, so we just prove Eq. (16). From the proof procedure of Theorem 1 and Theorem 2, it is easy to see that

$$h_4(t) \leq 4t(1-t)^3 d_1 + 6t^2(1-t)^2 d_2 + 4t^3(1-t) d_3.$$

Using Cauchy's inequality, we have

$$\begin{aligned} h_4(t) &\leq \sqrt{4d_1^2 + 6d_2^2 + 4d_3^2} \cdot \\ &\sqrt{4t^2(1-t)^6 + 6t^4(1-t)^4 + 4t^6(1-t)^2}, \end{aligned}$$

write

$$\begin{aligned} f(t) &:= 4t^2(1-t)^6 + 6t^4(1-t)^4 + \\ &4t^6(1-t)^2. \end{aligned}$$

Differentiation of $f(t)$ yields

$$\begin{aligned} f'(t) &= 8t(1-t)(1-2t) \{2(1-t)^2[(1-t) \\ &- \frac{1}{4}t]^2 + \frac{7}{4}(1-t)^2t^2 + 2t^2[t - \frac{1}{4}(1-t)]^2\}. \end{aligned}$$

From the above equality, we may see that $f(t)$ possesses the unique extreme point $t = \frac{1}{2}$ and that $f(t)$ gets its maximum $\frac{14}{256}$ at $t = \frac{1}{2}$. Thus Eq. (16) holds.

Remark 1 The estimate Eq. (15) is better than Eq. (5) and worse than Eq. (14), however Eq. (15) is more simple and elegant than Eq. (14).

By Eq. (16) in Theorem 3, the termination criterion for subdivision of the degree 4 Bézier curve may be improved into the following expression:

$$\max_{0 \leq t \leq 1} h_4(t) \leq \frac{\sqrt{14}}{16} \sqrt{4d_1^2 + 6d_2^2 + 4d_3^2} < \varepsilon.$$

Note that from considering Eq. (15) and Eq. (16), it is natural to think that the following inequality

$$h_n(t) \leq \frac{\sqrt{2^n - 2}}{2^n} \sqrt{\sum_{i=1}^{n-1} C_n^i d_i^2}, \quad (n \geq 5) \quad (17)$$

holds for the Bézier curve of degree n . But this is not true. To show it, we just put up an exam-

ple. Let the plane Bézier curve of degree n such that $d_2 = d_3 = \dots = d_{n-1} = 0$ and $d_1 \neq 0$, then

$$p_n(t) = nt(1-t)^{n-1}d_1.$$

By straightforward calculation, we have $\limmax_{n \rightarrow \infty, 0 \leq t \leq 1} h_n(t) = \frac{1}{e}d_1$. However, according to the estimate Eq.(17) we have $\limmax_{n \rightarrow \infty, 0 \leq t \leq 1} h_n(t) = 0$. This criterion shows that Eq.(17) is not true when n is large enough. By more careful calculation, we can prove Eq.(17) is not true when $n \geq 5$. To establish better estimation when $n \geq 5$, we will obtain it by different method than that above.

Theorem 4 For the rational Bézier curve of degree $n(\geq 4)$, $d_i(i = 1, 2, \dots, n-1)$ is defined by (3), write $D = \max_{1 \leq i \leq n-1} d_i$, $w = \max_{1 \leq i \leq n-1} w_i$; then

$$h_n(t) \leq \left(1 + \frac{\min(w_0, w_n)}{(2^{n-1}-1)w - \frac{1}{2}\min(2(n-1)w, B)} \right)^{-1} D. \quad (18)$$

Where $B =$

$$\begin{cases} \left[\frac{n}{2}-1 \right] \\ 2 \sum_{i=1}^{[\frac{n}{2}-1]} C_n^i \sqrt{(w-w_i)(w-w_{n-i})}, n \text{ is odd,} \\ \left[\frac{n}{2}-1 \right] \\ 2 \sum_{i=1}^{[\frac{n}{2}-1]} C_n^i \sqrt{(w-w_i)(w-w_{n-i})} + \\ C_n^{\frac{n}{2}}(w-w_{\frac{n}{2}}), n \text{ is even.} \end{cases} \quad (19)$$

Proof From the proof procedure of Theorem 1 and Theorem 2, it is easy to see that

$$h_n(t) \leq \frac{\sum_{i=1}^{n-1} B_n^i(t)w_i d_i}{\sum_{i=0}^n B_n^i(t)w_i},$$

thus,

$$h_n(t) \leq \frac{\sum_{i=1}^{n-1} B_n^i(t)w_i}{\sum_{i=0}^n B_n^i(t)w_i} D = \left(1 + \frac{w_0(1-t)^n + w_n t^n}{\sum_{i=1}^{n-1} B_n^i(t)w_i} \right)^{-1} D. \quad (20)$$

Therefore

$$\sum_{i=1}^{n-1} B_n^i(t)w_i = \sum_{i=1}^{n-1} B_n^i(t)w - \sum_{i=1}^{n-1} B_n^i(t)(w-w_i) = w - [t^n w + (1-t)^n w + \sum_{i=1}^{n-1} B_n^i(t)(w-w_i)]. \quad (21)$$

Using the following inequality

$$B_n^i(t)(w-w_i) + B_n^{n-i}(t)(w-w_{n-i}) \geq 2C_n^i t^{\frac{n}{2}}(1-t)^{\frac{n}{2}} \sqrt{(w-w_i)(w-w_{n-i})}, \quad \left(i < \frac{n}{2} \right). \quad (22)$$

We have

$$\sum_{i=1}^{n-1} B_n^i(t)w_i \leq w - [t^n w + t^{\frac{n}{2}}(1-t)^{\frac{n}{2}} B + (1-t)^n w]. \quad (23)$$

Write

$$g(t) = t^n w + t^{\frac{n}{2}}(1-t)^{\frac{n}{2}} B + (1-t)^n w, \quad (24)$$

then differentiation of $g(t)$ yields

$$\begin{aligned} g'(t) &= nt^{n-1}w + \frac{n}{2}t^{\frac{n}{2}-1}(1-t)^{\frac{n}{2}-1}(1-2t) \cdot \\ &B - n(1-t)^{n-1}w = n(2t-1)[t^{n-2} + \\ &t^{n-3}(1-t) + \dots + (1-t)^{n-2}]w + \frac{n}{2}t^{\frac{n}{2}-1} \cdot \\ &(1-t)^{\frac{n}{2}-1}(1-2t)B = n(2t-1)\left\{ [t^{n-2} + \right. \\ &t^{n-3}(1-t) + \dots + (1-t)^{n-2}]w - \frac{1}{2}t^{\frac{n}{2}-1} \cdot \\ &\left. (1-t)^{\frac{n}{2}-1} B \right\}. \end{aligned}$$

Therefore

$$\begin{aligned} [t^{n-2} + t^{n-3}(1-t) + \dots + (1-t)^{n-2}]w - \\ \frac{1}{2}t^{\frac{n}{2}-1}(1-t)^{\frac{n}{2}-1}B \geq \frac{1}{2}t^{\frac{n}{2}-1}(1-t)^{\frac{n}{2}-1} \cdot \\ (2(n-1)w - B). \end{aligned} \quad (25)$$

Now we distinguish two cases:

1. When $B \leq 2(n-1)w$, from Eq.(25), we know that $g'(t)$ has only extreme point $\frac{1}{2}$. It is easy to see $g(t) \geq \frac{2}{2^n}w + \frac{n}{2^n}B$.

2. When $B \geq 2(n-1)w$, noting Eq.(25), we know that

$$g(t) \geq t^n w + 2t^{\frac{n}{2}}(1-t)^{\frac{n}{2}}(n-1)w +$$

$$(1-t)^n w \geq \frac{n}{2^n} w + \frac{n}{2^n} 2(n-1)w = \frac{2n}{2^n} w.$$

Combining 1 with 2, we have

$$g(t) \geq \frac{n}{2^n} w + \frac{n}{2^n} \min(2(n-1)w, B). \quad (26)$$

Using Eqs. (20), (21), (24), (26) and the following obvious inequality

$$w_0(1-t)^n + w_n t^n \geq \frac{\min(w_0, w_n)}{2^{n-1}},$$

we get $h_n(t) \leq$

$$\left(1 + \frac{w_0(1-t)^n + w_n t^n}{\frac{2^n-2}{2^n} w - \frac{1}{2^n} \min(2(n-1)w, B)}\right)^{-1} D \leq$$

$$\left(1 + \frac{\min(w_0, w_n)}{(2^{n-1}-1)w - \frac{1}{2} \min(2(n-1)w, B)}\right)^{-1} D.$$

This completes the proof.

Corollary 2 For the Bézier curve of degree n (≥ 4), d_i ($i = 1, 2, \dots, n-1$) is defined by Eq. (3), writing $D = \max_{1 \leq i \leq n-1} d_i$, then

$$h_n(t) \leq \left(\frac{2^n-2}{2^n}\right) D - \frac{1}{2^n} \min(2(n-1)D, T). \quad (27)$$

Where $T =$

$$\begin{cases} \left[\frac{n}{2}-1\right] \\ 2 \sum_{i=1}^{[\frac{n}{2}-1]} C_n^i \sqrt{(D-d_i)(D-d_{n-i})}, n \text{ is odd,} \\ \left[\frac{n}{2}-1\right] \\ 2 \sum_{i=1}^{[\frac{n}{2}-1]} C_n^i \sqrt{(D-d_i)(D-d_{n-i})} + \\ C_n^{\frac{n}{2}} (D-d_{\frac{n}{2}}), n \text{ is even.} \end{cases} \quad (28)$$

By Corollary 3, the termination criterion for subdivision of the degree n Bézier curve may be improved into the following expression:

$$\left(\frac{2^n-2}{2^n}\right) D - \frac{1}{2^n} \min(2(n-1)D, T) \leq \varepsilon.$$

Proof The proof of Corollary 3 is similar to that of Theorem 4, so we omit it.

Remarks 2:

1. When $T \geq 2(n-1)D$, Eq. (27) becomes $h_n(t) \leq \left(\frac{2^n-2n}{2^n}\right) D$, this is better than Eq. (7).

2. When $n = 4$ estimate Eq. (27) is some-

times better, sometimes worse, than estimate Eq. (16). We suggest computing both estimates and using their minimum.

3. When n is odd, degree elevation for the Bézier curve before using Corollary 2, but this requires increased calculations.

Finally, we point out that the estimate Eq. (27) is accurate for some kinds of Bézier curve of degree n . For example, for the plane Bézier curve of degree 4 such that $d_1 = d_3$, $d_1 \leq d_2 \leq 4d_1$, the estimate Eq. (27) holds accurately. We show it below. In this case we have

$$h_4(t) = 4t(1-t)^3 d_1 + 6t^2(1-t)^2 d_2 + 4t^3(1-t) d_1 = 2(3d_2 - 4d_1)[t(1-t)]^2 + 4d_1 t(1-t).$$

Noting that $0 \leq t(1-t) \leq \frac{1}{4}$, it is easy to get

$$\max_{0 \leq t \leq 1} h_n(t) = h\left(\frac{1}{2}\right) = \frac{1}{2} d_1 + \frac{3}{8} d_2.$$

On the other hand, by the definition of T , we get $T = 8(d_2 - d_1) \leq 6d_2$. From the estimate Eq. (27), we immediately get

$$h_n(t) \leq \frac{1}{2} d_1 + \frac{3}{8} d_2.$$

References

- Anglada, M. V., Garcia, N. P. and Crosa, P. B., 1999. Directional adaptive surface triangulation. *Computer Aided Geometric Design*, **16**:107-126.
- Filip, D., Magedson, R. and Markot, R., 1986. Surface algorithm using bounds on derivatives. *Computer Aided Geometric Design*, **3**:295-311.
- Lane, J. M. and Riesenfeld, R. F., 1980. A theoretical development for the computer generation and display of piecewise polynomial surface. *IEEE Trans. Pattern Anal. Machine Intell.*, PAMI-2:35-46.
- Naim, D., Peter, J. and Lutterkort, D., 1999. Sharp, quantitative bounds on the distance between a polynomial piece and its Bézier control polygon. *Computer Aided Geometric Design*, **16**(7), 613-631.
- Sederberg, T. W. and Parry, S. R., 1986. Comparison of three curve intersection algorithms. *Computer Aided Design*, **18**:58-63.
- Sheng, X., Hirsh, B. E., 1992. Triangulation of trimmed surface in parametric space. *Computer Aided Design*, **24**(8):437-444.
- Wang G. Z., 1984. The subdivision method for finding the intersection between two Bézier curves or surfaces. *Journal of Zhejiang University*(Special Issue on Computational Geometry), **18**: 108-119 (in Chinese).
- Wang, G. J., and Xu, W., 1991. The termination criterion for subdivision of the rational bézier Curves. *Graphical Models And Image Processing*, **53**:93-96.